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(n) Spindle

¢y disk arm

(c) track

(d) None of these

2. (a) If FIFOpage replacement algorithm is used with 4 page

frames and 8 pages, how many page faults will occur with

reference string 0124720347 if four page frames are
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initially empty ? Solve the same problem for LRU page

replacement algorithm.

(b) Define aprocess. Explain the process state transition with

aneat diagram. 7+7=14

3. (a) Whatis PCB? Dis¢ussits major fields.
(b) Explain [PC Problem-Readers & Writers Problem?
7+7=14

deadlock. How deadlock can be prevented.
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(b) Explain the use of Banker's algorithm for multipl

resources for deadlock avoidance with illustration.
7+7=14
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5. (a) Explain Limux kernel and its functionsin brief.
(v Define operating system. Explain the different views of
operating system. Also explain types ol operating system.
7+7=14
6. (a) What is Semaphorc? How can we achieve the
synchronization using semaphore for producer-consumer
problem?
(h) Establish the necessity for memory management. Explain
the memory management with the use of Linked Lists.

7+7=14

7. (a) Fxplain theclassicatthread model with its implementation
strategies.

(b) Discuss the Peterson's solution for the race condition with

alporithm. 7+7=14
8. (a) Whatis RAID 7 Explainin brief.
(b) WhatisI-node ? Explain in detail. 7+7=14

9, (a) Explain the structure of a page table entry. [fa machine
has 48 bit virtual addresses and 32-bit physical addresses
and pages are of § KB. how many entrics are needed for
the page table?
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(h) Defineand exp]ai‘;‘it-fbllt;_x:’i:@ terms:
(i) Authentication
@y Mutual Exclusion
(i) Monitor
(iv) Segmentation.

7+7=14

EEx

WO ABYIGNYE MMM

WO ABYIGNHE MMM

Code : 061503 7

WO ARYIGNHE MMM

WO IRYIGN{E MMM



